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s noHuMaHus (hOKyCcOB MarHUTHOTO MOJIS jaBaii IOCMOTPHY Ha TpaHC(OPMaTop pacKauku
00BIYHOTO ITOJTyMOCTOBOTO KOMIIOBOTO O/I0Ka MUTaHUS.

[IBa rijieya Ha BXOJie B UICXO/THOM COCTOSTHUM 00a OTKPBIThL. TOK OrpaHHUYeH pe3uCTOPOM B IMUTaHWH.
B mteuax TOKM CO371at0T MPOTUBOIIO/IOXKHBIE T10JIsi- B CepJeUHUKe T10/1e HOJIb.

U BOT MpH BHIK/TFOUEHUH OFHOTO W3 TIed Ha BTOPHUUKe BO3HUKAET BhIOPOC HAMpsDKeHHUs U TOKa,
KOTOPBIN HY>KeH /7151 ObICTPOTO OTKPBhIBAHUSI MOIIIHOTO TPaH3UCTOPA MOCTA.

Bompoc- oTKyza BIOpOC, Bejb 10Jie B Cep/ieuHrKe ObIIO ZI0 3TOTO HOJb.

Translation:

To understand the tricks of the magnetic field, let's look at the MOSFET driver transformer of a
conventional half-bridge computer power supply. In the initial state, the two arms at the beginning
are both open. The current is limited by a resistor in the power supply. In the arms, currents create
opposite fields - in the core, the field is zero. And when one of the arms is turned off, a voltage and
current surge occurs on the secondary, which is needed to quickly open the powerful bridge
transistor. The question is where the pulse comes from, because the field in the core was zero before
that.
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complete schematic https://radioskot.ru/FILES1/TW-ISP300A3-1 P.pdf
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